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ÍÛæ̃ Û¶ÛÛ :   ¼ÛµÛÛ ¸ÛóÊ¶ÛÛé ºõÁõÜ›÷ýÛÛ©Û ™öé ©Û¬ÛÛ ›÷¾Û¨Ûà ¼ÛÛ›ä÷…é þùÉÛÛÙÈÛéÅÛ …×ïõ ¸ÛóÊ¶Û¶ÛÛ ¸ÛæÁõÛ •Ûä¨Û ÍÛæ̃ ÛÈÛé ™öé. 
Instruction : All questions are compulsory and figures to the right indicate marks 

allotted to each. 

 

1. (A) ÍÛaøÛïõàýÛ ›Ûé”Û¾Û¶ÛÛ× ¸ÛóïõÛÁõÛé ÍÛ¾Û›ÛÈÛÛé. 7 

  Explain types of speculative risks.  

               …¬ÛÈÛÛ/OR 

  ÉÛä±ù ›Ûé”Û¾Û¶ÛÛ× ¸ÛóïõÛÁõÛé ÍÛ¾Û›ÛÈÛÛé.  
  Explain types of pure risks. 

 (B) ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û ÅÛ”ÛÛé : (•Û¾Ûé ©Ûé ¼Ûé) 4 

  Explain in brief : (Any two) 

  (i) ¸ÛéÜÁõÅÛ (”Û©ÛÁõÛé) …¶Ûé Ðéü¡öÛ¦Ùø (ÍÛ×ïõ¤ø) ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û þùÉÛÛÙÈÛÛé.  
    Distinguish between Peril and Hazard. 

  (ii) ›Ûé”Û¾Û ÍÛ×̃ ÛÛÅÛïõ¶Ûà ½ÛæÜ¾ÛïõÛ ¤æ×øïõ¾ÛÛ× ›÷¨ÛÛÈÛÛé.  
    State the role of Risk Manager in brief. 

  (iii) ›Ûé”Û¾Û ïéõÈÛà Áõà©Ûé …ÛéÇ”ÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ? 
    How is risk identified ? 

 (C) …éïõ-¼Ûé ÅÛà¤øà¾ÛÛ× ›÷ÈÛÛ¼Û ÅÛ”ÛÛé : 3 

  Answer in one-two sentences only :  

  (i) ïõˆ ¸Ûó¬Û¾Û ›Ûé”Û¾Û Ü¶ÛýÛ×ªÛ¨Û ¤éøïõ¶Ûàïõ ™öé, ›÷é¾ÛÛ× ÐüïõÛÁõÛ©¾Ûïõ ¸Û•ÛÅÛÛ×¶ÛÛé ÍÛ¾ÛÛÈÛéÉÛ ¬ÛÛýÛ ™öé ? 
    Which is the first risk handling technique that involves positive action ? 

  (ii) ›Ûé”Û¾Û¶Ûä× ¸Û¦ø©ÛÁõ …é¤øÅÛé ÉÛä× ? 
    What is cost of risk ? 

  (iii) ›Ûé”Û¾Û ¸ÛÜÁõÐüÛÁõ (…éÈÛÛé̂ ¦ø¶ÍÛ) …é¤øÅÛé ÉÛä× ? 
    What is avoidance of risk ? 

 

2. (A) ›Ûé”Û¾Û ÍÛ×̧ ÛïÙõ¶ÛÛ× ¶ÛäïõÍÛÛ¶Û¶ÛÛ× ïõÛÁõ¨ÛÛé ïéõÈÛà Áõà©Ûé …ÛéÇ”ÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ?  7 

  How are causes of loss for risk exposures identified ?  

                          …¬ÛÈÛÛ/OR 

  ›Ûé”Û¾Û ÍÛ×̃ ÛÛÅÛ¶Û¾ÛÛ× ÅÛÛ•Ûä …Û×ïõ¦øÛïõàýÛ ”ýÛÛÅÛÛé ÍÛ¾Û›ÛÈÛÛé. 
  Explain statistical concepts applied in Risk Management.  
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 (B) ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û ÅÛ”ÛÛé : (•Û¾Ûé ©Ûé ¼Ûé)     4 

  Answer in brief : (Any two) 

  (i) ¾ÛÛé¤øà ÍÛ×”ýÛÛ¶ÛÛé ïõÛýÛþùÛé …é¤øÅÛé ÉÛä× ? 
    What is Law of Large Numbers ?  

  (ii) ÍÛ×½ÛÜÈÛ©Û ¾ÛÐü«Û¾Û ¶ÛäïõÍÛÛ¶Û …é¤øÅÛé ÉÛä× ? 
    What is Probable Maximum Loss ?  

  (iii) …ÛïõÜÍ¾Ûïõ …ÛýÛÛé›÷¶Û …é¤øÅÛé ÉÛä× ? 
    What is Contingency Planning ?  

 (C) …éïõ-¼Ûé ÅÛà¤øà¾ÛÛ× ›÷ÈÛÛ¼Û ÅÛ”ÛÛé :     3 

  Answer in one-two lines only :  

  (i) ›Ûé”Û¾Û ÍÛ×̧ ÛïÙõ …é¤øÅÛé ÉÛä× ? 
    What is Risk Exposure ?  

  (ii) ›Ûé”Û¾Û ÜÈÛÊÅÛéÌÛ¨Û …é¤øÅÛé ÉÛä× ? 
    What is Risk Analysis ?  

  (iii) ÍÛ×½ÛÜÈÛ©Û ¶ÛäïõÍÛÛ¶Û …é¤øÅÛé ÉÛä× ? 
    What are Expected Losses ?  

 

3. (A) ›Ûé”Û¾Û ÜµÛÁõÛ¨Û (ºõÛýÛ¶ÛÛ¶ÛÝÍÛ•Û) …¬ÛÙÉÛÛÍªÛ ÍÛ¾Û›ÛÈÛÛé.    7 

  Explain the Economics of Risk Financing. 

                …¬ÛÈÛÛ/OR 

  ›Ûé”Û¾Û ÍÛ×̃ ÛÛÅÛ¶Û¶ÛÛ ÍÛÛµÛ¶Û ©ÛÁõàïéõ ÈÛà¾ÛÛé ÍÛ¾Û›ÛÈÛÛé.  
  Discuss Insurance as a Risk of Management tool. 

 (B) ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û ÅÛ”ÛÛé : (•Û¾Ûé ©Ûé ¼Ûé)     4 

  Answer in brief : (Any two) 

  (i) ›Ûé”Û¾Û ÜµÛÁõÛ¨Û¶Ûé …ÍÛÁõ ïõÁõ©ÛÛ× …Û×©ÛÜÁõïõ ïõÛÁõ¨ÛÛé ›÷¨ÛÛÈÛÛé.  
    State internal factors affecting risk financing. 

  (ii) ›Ûé”Û¾Û ©Û¼ÛþùàÅÛà ïõÁõÛÁõ …é¤øÅÛé ÉÛä× ? 
    What is contractual Risk Transfer ?  

  (iii) ÈÛà¾ÛÛ ¸ÛóàÜ¾ÛýÛ¾Û¶Ûà Áõ˜Û¶ÛÛ ïéõÈÛà Áõà©Ûé ¬ÛÛýÛ ™öé ? 
    How is Insurance Premium composed of ? 

 (C) …éïõ-¼Ûé ÅÛà¤øà¾ÛÛ× ›÷ÈÛÛ¼Û ÅÛ”ÛÛé :     3 

  Answer in one-two lines only  : 

  (i) …ÛÁõÛé•ýÛ ÈÛà¾ÛÛ¾ÛÛ× …éïõ ›Ûé”Û¾Û ¸Ûó¼ÛÇ ™öé, ©Ûé¶Ûä× ¶ÛÛ¾Û þùÉÛÛÙÈÛÛé.  
    Name the menace that is rampant in Health insurance. 

  (ii) ›Ûé”Û¾Û ÜÈÛÜÈÛµÛ©ÛÛ (ÈÛíéÜÈÛµýÛïõÁõ¨Û) ¾ÛÛ¤éø¶Ûä× ÍÛÛµÛ¶Û þùÉÛÛÙÈÛÛé.  
    State the tool for diversification of risk. 

  (iii) ïõýÛÛ ¸ÛóïõÛÁõ¶ÛÛ× ›Ûé”Û¾Û ©Û¼ÛþùàÅÛà ïõÁõÈÛÛ ¾ÛÛ¤éø ÈÛµÛä ÍÛÛÁõÛ ÐüÛéýÛ ™öé ? 
    Which kind of risks are better to transfer ? 

  

4. (A) ›Ûé”Û¾Û Áõà¤éø¶ÉÛ¶Û¶Ûà ¸Û±ùÜ©Û…Ûé ÍÛ¾Û›ÛÈÛÛé.     7 

  Explain risk retention techniques. 

              …¬ÛÈÛÛ/OR 

  …é¶¤øÁõ¸ÛóÛˆ¡ö ›Ûé”Û¾Û ÍÛ×̃ ÛÛÅÛ¶Û ÍÛ¾Û›ÛÈÛÛé.  
  Explain Enterprise Risk Management. 
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 (B) ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û ÅÛ”ÛÛé : (•Û¾Ûé ©Ûé ¼Ûé)     4 

  Answer in brief : (Any two) 

  (i) ›Ûé”Û¾Û Áõà¤éø¶ÉÛ¶Û¶ÛÛ ÅÛÛ½Û ›÷¨ÛÛÈÛÛé.  
    State the benefits of risk retention.  

  (ii) …ÛïõÜÍ¾Ûïõ ½Û×¦øÛéÇ …é¤øÅÛé ÉÛä× ? 
    What are contingency funds ? 

  (iii) ›Ûé”Û¾Û Áõà¤éø¶ÉÛ¶Û¾ÛÛ× ¶ÛäïõÍÛÛ¶Û ïéõÈÛà Áõà©Ûé ÁõÛ”ÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ? 
    How are losses treated in risk retention ? 

 (C) …éïõ-¼Ûé ÅÛà¤øà¾ÛÛ× ›÷ÈÛÛ¼Û ÅÛ”ÛÛé :     3 

  Answer in one-two lines only : 

  (i) ïõýÛÛ ¸ÛóïõÛÁõ¶ÛÛ ›Ûé”Û¾ÛÛé ›ÛÇÈÛÈÛÛ (Áõà¤éø¶Û) ïõÁõÈÛÛ ËÛéÌ¥ø ™öé ? 
    Which kind of risks are best to retain ?  

  (ii) ï×õ¸Û¶Ûà ›Ûé”Û¾Û ÍÛ×̃ ÛÛÅÛ¶Û ÈýÛÜî©Û•Û©Û ›Ûé”Û¾Û ÍÛ×̃ ÛÛÅÛ¶Û ïõÁõ©ÛÛ× ïéõÈÛà Áõà©Ûé Ü½Û·Û ™öé ? 
   How is corporate risk management different from individual risk management ?  

  (iii) Ü¼Û¶Û-ÍÛ×ïõÜÅÛ©Û ›Ûé”Û¾Û ÍÛ×̃ ÛÛÅÛ¶Û …é¤øÅÛé ÉÛä× ? 
    What is disaggregated risk management ?  

 

5. ýÛÛé•ýÛ ÜÈÛïõÅ¸Û¶Ûà ¸ÛÍÛ×þù•Ûà ïõÁõÛé :     14 

 Select the right option :  

 (1) _________ …éïõ …éÈÛà ÉÛÁõ©Û …¬ÛÈÛÛ ÜÍ¬ÛÜ©Û ™öé, ›÷é ¶ÛäïõÍÛÛ¶Û¶Ûà ÍÛ×½ÛÛÈÛ¶ÛÛ ÈÛµÛÛÁéõ ™öé.  
  (a) ”Û©ÛÁõÛé (Peril) (b) ÍÛ×ïõ¤ø (Ðéü¡öÛ¦Ùø) (c) ›Ûé”Û¾Û 
  ________ is a condition or situation that increases the probability of loss.  

  (a) Peril  (b) Hazard (c) Risk  

 (2) …Û•Û …éïõ _________ ™öé, ›÷é ¶ÛäïõÍÛÛ¶Û¶Ûä× ïõÛÁõ¨Û ™öé. 
  (a) ”Û©ÛÁõÛé (Peril) (b) ÍÛ×ïõ¤ø (Ðéü¡öÛ¦Ùø) (c) ›Ûé”Û¾Û 
  Fire is a ________ that causes a loss.  

  (a) Peril   (b) Hazard (c) Risk 

 (3) ˆÅÛéî¤Öøàïõ ¤ÖøÛ¶ÍÛºõÛé¾ÛÙÁõ ¶Ûœ÷ïõ šÈÛÅÛ¶ÛÉÛàÅÛ ÍÛÛ¾Û•Ûóà ÍÛ×•ÛóÐü ________ ™öé. 
  (a) ”Û©ÛÁõÛé (¸ÛéÜÁõÅÛ) (b) ½ÛÛíéÜ©Ûïõ ÍÛ×ïõ¤ø (c) ¶ÛíéÜ©Ûïõ ÍÛ×ïõ¤ø  
  Storage of inflammable material near an electric transformer is ________. 

  (a) Peril   (b) Physical Hazard (c) Moral Hazard 

 (4) ˆÁõÛþùÛ¸ÛæÈÛÙïõ ¸ÛÛé©ÛÛ¶ÛÛ ÈÛÛÐü¶Û¶Ûä× ¶ÛäïõÍÛÛ¶Û ›÷é¬Ûà ©Ûé Áõà¸ÛéÁõ ïõÁõÛÈÛà ÉÛïõÛýÛ ________ ¶Ûä× ŠþùÛÐüÁõ¨Û 
™öé.  

  (a) ”Û©ÛÁõÛé (¸ÛéÜÁõÅÛ) (b) ½ÛÛíéÜ©Ûïõ ÍÛ×ïõ¤ø  (c) ¶ÛíéÜ©Ûïõ ÍÛ×ïõ¤ø  
  Deliberately damaging one’s vehicle with a view to getting it repaired is an 

example of ________. 

  (a) Peril  (b) Physical Hazard (c) Moral Hazard 

 (5) ¸ÛÁ×õ¸ÛÁõÛ•Û©Û ›Ûé”Û¾Û ÍÛ×̃ ÛÛÅÛ¶Û ºõî©Û ________ ›Ûé”Û¾ÛÛé ÍÛÛ¬Ûé ÍÛ×¼Û×ÜµÛ©Û Ðü©Ûä×.  
  (a) ÉÛä±ù  (b) ÍÛaÛïõàýÛ  (c) ÜÍ¬ÛÁõ  
  Conventional Risk Management used to deal with ________ risks only. 

  (a) Pure  (b) Speculative (c) Static 
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 (6) Ü³ù˜Û’õà ÈÛÛÐü¶ÛÛé ¾ÛÛ¤éø ºõÁõÜ›÷ýÛÛ©Û ÐéüÅ¾Ûé¤ø …é ¶ÛäïõÍÛÛ¶Û ________ ¾ÛÛ¤éø¶Ûä× ¸Û•ÛÅÛä× ™öé.  
  (a) Ü¶ÛÈÛÛÁõ¨Û (b) –Û¤øÛ¦øÛé (c) Ü¶ÛÈÛÛÁõ¨Û …¶Ûé –Û¤øÛ¦øÛé ¼Û×¶Ûé 
  Compulsory Helmet for two wheeler drivers is a loss ________ measure. 

  (a) Prevention  (b) Minimization   

  (c) Both Prevention and Minimization 

 (7) ________ …é ÉÛä±ù ›Ûé”Û¾Û ¾ÛÛ¤éøù ›Ûé”Û¾Û ©Û¼ÛþùàÅÛà¶Ûä× ÍÛÛµÛ¶Û ™öé.  
  (a) ÈÛà¾ÛÛé  (b) Ðéüœ×÷•Û  (c) Áõà¤éø¶ÉÛ¶Û 
  ________ is a risk transfer tool for pure risks. 

  (a) Insurance  (b) Hedging (c) Retention  

 (8) ________ …Ûé™öà Š•Ûó©ÛÛ (ÜÍÛÜÈÛýÛÛÁõà¤øà) …Ûé™ä×ö ¸Ûä¶ÛÁõÛÈÛ©ÛÙ¶Û¶ÛÛ ÜïõÍÍÛÛ¾ÛÛ× ¬ÛÛýÛ ™öé.  
  (a) ÈÛà¾ÛÛé  (b) Ðéüœ×÷•Û  (c) Áõà¤éø¶ÉÛ¶Û 
  ________ takes place in case of low severity low frequency risks. 

  (a) Insurance (b) Hedging (c) Retention  

 (9) ›Ûé”Û¾Û ÍÛ×̃ ÛÛÅÛ¶Û¶Ûà ¸ÛóÜ’õýÛÛ ________ ¬Ûà ÉÛÄõ ¬ÛÛýÛ ™öé.  

  (a) ›Ûé”Û¾Û ÜÈÛÊÅÛéÌÛ¨Û (b) ›Ûé”Û¾Û …×ïäõÉÛ  

   (c) ›Ûé”Û¾Û ÜµÛÁõÛ¨Û (d) ›Ûé”Û¾Û ¾ÛæÅýÛÛ×ïõ¶Û 
  Process of Risk Management commences with ________. 

  (a) Risk Analysis (b) Risk Control   

  (c) Risk Financing (d) Risk Evaluation  

 (10) šýÛÛÁéõ ÁõÐüà •ÛýÛéÅÛÛ ›Ûé”Û¾ÛÛé ¸ÛóÐüÛÁõ ïõÁéõ ©ýÛÛÁéõ …éïõ¾Û Ü¶ÛÜÌ’õýÛ©ÛÛ¬Ûà ™öéÈÛ¤éø ________ ïõÁõÉÛé.  
  (a) ©Û¼ÛþùàÅÛ (b) Áõà¤éø¶Û (c) …×ïäõÉÛ 
  If ‘left-out’ risks strike, the organization will end up ________ then passively. 

  (a) transferring (b) retaining  (c) controlling 

 (11) ›Ûé”Û¾Û …×ïäõÉÛ ËÛéÌ¥ø ÈýÛæÐüÁõ˜Û¶ÛÛ ™öé ________ ¸Ûä¶ÛÁõÛÈÛ©ÛÙ¶Û …¶Ûé ________ Š•Ûó©ÛÛ ¸ÛÜÁõ¼ÛÇÛé 
µÛÁõÛÈÛ©ÛÛ ›Ûé”Û¾ÛÛé ¾ÛÛ¤éø. 

  (a) ÈÛµÛä, …Ûé™ä×ö (b) …Ûé™ä×ö, ÈÛµÛä 
  (c) ÈÛµÛä, ÈÛµÛä (d) …Ûé™ä×ö, …Ûé™ä×ö 
  Risk Control is an ideal strategy for risks with ________ frequency and ________ 

severity factors.  

  (a) high, low (b) low, high 

  (c) high, high (d) low, low 

 (12) ¶ÛÛ¶Ûà ¾ÛÉÛà¶ÛÁõà ÜÈÛÁõÛ¾Û (¼Ûóéïõ¦øÛŠ¶Û) ¶ÛäïõÍÛÛ¶Û¶Ûé ________ ¾ÛÛ× ÈÛ•ÛâïõÁõ¨Û ïõÁõà ÉÛïõÛýÛ. 
  (a) ÈÛµÛä ¸Ûä¶ÛÁõÛÈÛ©ÛÙ¶Û, …Ûé™öà Š•Ûó©ÛÛ 
  (b) …Ûé™ä×ö ¸Ûä¶ÛÁõÛÈÛ©ÛÙ¶Û, ÈÛµÛä Š•Ûó©ÛÛ 
  (c) ÈÛµÛä ¸Ûä¶ÛÁõÛÈÛ©ÛÙ¶Û, ÈÛµÛä Š•Ûó©ÛÛ 
  (d) …Ûé™ä×ö ¸Ûä¶ÛÁõÛÈÛ©ÛÙ¶Û, …Ûé™öà Š•Ûó©ÛÛ 
  Small Machinery breakdown losses fall within the category of ________ losses. 

  (a) High frequency, low severity 

   (b) Low frequency, high severity 

   (c) High frequency, high severity 

  (d) Low frequency, low severity 

____________ 


